Precalcuduy Uit 1 Homework—Implicit Fuructions and Inverses

For #1-4, the graph of a relation is shown. (A) TIs the relation a function? (B) Does the relation have an
inverse that is a function?
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For #5-9, find /' (x). Give the domain of 7 ine luding any restrictions “inherited” from f .

5. f(x)=3x-6 {"(x): '§X+Z/ ("m)aj)

_ 2x-3 i) - X+ 3 _ vz,
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For #10-13, determine whether the function if one-to-one. If it one-to-one, sketch the graph of the
inverse.
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For #14-16, confirm that f and g are inverses by showing that f(g(x)) = x and g(f(x)) =x.

4. f(x)=3x-2 and g(x)="12

f(96)) = 3(’5_‘;—2)—2 = X+2-2=X
9(%5): Ix 242 = Bx - x

15. f(x)=x +1(and Tg(x) —2\/T1
Plgbs) = (FIXT)*4 [ = x-1+l=X
g Pe)= YnT =T = Yx .
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For #17-28, determine whether the function is one-to-one.
17. f(x)=3x-7 18 flx)= 12 19. f(x)=x*-9
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(:j(’S 3 eSS Nno
20. f(x)=x"+4 21. f(x)=+/x 22. f(x)=3x
ne 4e S Yes
23. f(x) =l 24. f(x)=3 25. f(x)=+4-x’ =
ne ne ho
26. f(x)=2x-4 27. f(x)=x*-9 28. f(x)=i2
X
lje S no no
For #29-31, find two functions defined implicitly by each given relation.
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